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Processing Information
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Name the three vision fields below.
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1.      
2.      
3.      
2. In order to search effectively, you need to know:

·      ;

·      ; and

·      
3. The recommended following interval is       seconds.
4. Explain the meaning of the following statement as it relates to the search process: “The eyes don’t tell the brain what they see—the brain tells the eyes what to look for”.
     
5. When searching, what four categories of traffic elements should you look for?

1.      
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2.      
3.      
4.      
6. Fill in the correct time interval for each of the following:

         Time interval 



Explanation

            (seconds)






     



You should search this area


     

Identify alternate paths of travel in this area




     

Provides sufficient time to bring your vehicle to a stop on dry 





paved roadways.


7. List 5 ways you can communicate with other drivers.

1.      
2.      
3.      
4.      
5.      
8. What is the purpose of staggered stop lines?

     
9. Explain why the red car in the diagram below has selected that lane position.

     

       W

Intersections

1. When approaching an intersection, search       to       seconds ahead to determine if you have an open path of travel.

2. Crossing a two-lane roadway from a stop requires a gap of at least       seconds between your car and ay approaching vehicles.

3. If a vehicle is approaching from the right at 30 mph (45 feet per second), you will need a gap of at least       feet to safely cross the intersection.

4. When turning right into 30 mph traffic, you need a gap of at least       seconds to complete the turn and establish space around your vehicle.

5. When waiting to make a left turn, the front wheels should be      .

6. In the diagram below, vehicle B will be turning left from a stop.



   A








B

· It will take vehicle B approximately 11 seconds to make the turn and establish space around his vehicle.

· Vehicle A is traveling 30 mph (45 fps).  

Vehicle B will need a gap of approximately       feet to safely make the turn.

7. If vehicle A’s speed increases to 50 mph (75 fps), the needed gap will increase to       feet.

8. The markings in the lane below indicate a       lane.






9. When executing a left turn from a driveway, how can a shared left turn lane help you make this turn safely?

     
10. In the diagram below, the red vehicle should complete the left turn.

     
A – in the 1st open lane going left

B – in the 2nd open lane going left

C – In any available lane






11. In the diagram below the red vehicle turning right should turn from lane       into lane      .  If turning left the correct path of travel is from lane      into lane      .



Curves and Hills

1. You must look       seconds ahead into a curve.

2. Are the driver’s line of sight and path of travel the same 

in this diagram?      






3. What is blocking the driver’s line of sight in this diagram?

     








4. When should you slow down for a curve?

     

5. Where is the apex of a curve?

     
6. Energy of motions attempts to keep a vehicle traveling in      .

7. In this situation:




· How is your line of sight restricted?



     
· What should you be searching for?

     
· Are there any escape routes?

     
· What is your best lane position as you approach the crest of the hill?

     
8. Hill crests should generally be approached in lane position      .

9. Why is it essential to check traffic behind before cresting a hill?

     
Passing

1. Name 5 instances when it is illegal to pass another vehicle.

1.      
2.      
3.      
4.      
5.      
2. Determine the passing time and space needed for the passing maneuver below.  (Remember a vehicle travels approximately 1 ½ times its speed in feet per second.  Example:  a vehicle traveling 40 miles per hour is traveling at 60 feet per second.)

Vehicle A is passing vehicle B.  Vehicle B is 15 feet long and is traveling 30 mph. Vehicle A is traveling 40 mph.  Vehicle A will start 2 seconds back and will return to his lane when he is 60 feet ahead of vehicle B.





                         

a. Vehicle A must travel       feet further than vehicle B to complete this maneuver (calculation below).

· 2 second following distance = 2 x 60 feet per second =       feet

· Length of vehicle B =       feet

· Distance between vehicle B & vehicle A after vehicle A passes vehicle B and returns to the lane =       feet.

· Total =       feet

b. Vehicle A is traveling       feet per second faster than Vehicle B.

· Vehicle A is traveling 60 fps.  Vehicle B is traveling 45 fps.

c. Vehicle A will need       seconds to safely pass vehicle B and return to the right lane (divide total feet (answer A) by answer B).

d. The oncoming vehicle (red) is also traveling 40 mph.  What effect will this vehicle have on vehicle A’s decision to pass?

     





        Vehicle A



Truck B       

6. Vehicle Car A is now passing a truck that is 90 feet long.  Vehicle A is traveling 40 mph (or 60 feet per second) and truck B is traveling 30 mph (or 45 feet per second).   Vehicle A will begin the passing maneuver 4 seconds behind the truck to allow the truck driver to see him.  Vehicle A will return to his lane when he is 60 feet ahead of truck B.

a. Vehicle A must travel       feet further than truck B to complete this maneuver (calculation below).

· 4 second following distance = 4 x 60 feet per second =       feet

· Length of truck B =       feet

· Distance between truck B & vehicle A after vehicle A passes the truck and returns to his lane =       feet

· Total =       

b. Car A is traveling       feet per second faster than truck B.

· Car A is traveling 60 fps.  Truck B is traveling 45 fps.

c. Car A will need       seconds to safely pass truck B and return to the right lane.  Divide total feet (answer a) by answer b.

7. How does vehicle A determine when it is safe to return to the right lane after passing the truck?

     
8. Explain how using headlights during the daytime increases safety during passing maneuvers.
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